UTMS 2001–15

May 25, 2001

Algebraic formulae for the q-inverse in a free group

by

K. HABIRO, S. KAMADA, Y. MATSUMOTO and K. YOSHIKAWA



# **UNIVERSITY OF TOKYO**

GRADUATE SCHOOL OF MATHEMATICAL SCIENCES KOMABA, TOKYO, JAPAN

# ALGEBRAIC FORMULAE FOR THE q-INVERSE IN A FREE GROUP

### K.HABIRO, S.KAMADA, Y.MATSUMOTO AND K.YOSHIKAWA

ABSTRACT. Let  $F_n$  be a free group with n fixed generators, which we assume are linearly ordered. In a previous paper [M], a curious mapping  $I: F_n \to F_n$ was introduced pictorially. It is a "square root" of the inner automorphism of  $F_n$ induced by the "smallest" generator. In the present paper, two algebraic formulae will be given, by which one can compute the mapping I purely algebraically.

### 1. INTRODUCTION

Let  $F_n$  denote a free group with *n* fixed generators  $x_1, x_2, \ldots, x_n$ , which are referred to as *the preferred generators*. We assume that these generators are linearly ordered:

$$x_1 < x_2 < \cdots < x_n.$$

In what follows the "smallest" generator  $x_1$  will play a special role, and it will be denoted by a special letter q:

$$q = x_1$$
.

The present paper is concerned with a curious mapping

$$I: F_n \to F_n$$
,

which was introduced in [M] pictorially in connection with the conjugation formula for the mapping class group of a punctured sphere. In that paper, the mapping I was called the "quantum inverse", but here we will call it the *q*-inverse for simplicity. The purpose of this paper is to give two different algebraic formulae, each of which allows one to compute this mapping I purely algebraically.

The q-inverse I has several interesting properties:

<sup>2000</sup> Mathematics Subject Classifications. primary: 20F36, 57M05, secondary: 57M25, 57M50

(1) For each element  $W \in F_n$ ,

$$I(I(W)) = q^{-1}Wq.$$

In other words, I is a "square root" of the inner automorphism of  $F_n$  induced by q. In particular, I is a bijection.

(2) I is stable: Let  $F_m$  be another free group with preferred generators  $y_1, y_2, \ldots, y_m$  which are linearly ordered:

$$y_1 < y_2 < \cdots < y_m.$$

Let  $h : F_n \to F_m$  be an embedding which preserves q and the order of the preferred generators. More precisely, let  $h : F_n \to F_m$  be a homomorphism satisfying the following conditions:

$$h(x_1) = y_1,$$
  

$$h(x_i) = y_{\sigma(i)}, \ \sigma(i) \in \{2, \dots, m\} \ (i = 2, \dots, n), \text{ and }$$
  

$$\sigma(i) < \sigma(j) \text{ for } i < j.$$

Then the following diagram commutes:

$$\begin{array}{cccc} F_n & \stackrel{I}{\longrightarrow} & F_n \\ h & & & \downarrow h \\ F_m & \stackrel{I}{\longrightarrow} & F_m \end{array}$$

(2') Let *E* be a subset of  $\{x_2, \ldots, x_n\}$  and  $\pi_E : F_n \to F_n/N(E)$  the projection to the quotient group by the normal subgroup N(E) generated by *E*. Then the following diagram commutes:

$$\begin{array}{cccc} F_n & & \stackrel{I}{\longrightarrow} & F_n \\ \pi_E & & & \downarrow \pi_E \\ F_n/N(E) & \stackrel{I}{\longrightarrow} & F_n/N(E) \end{array}$$

(3) Substitution q = 1 reduces I(W) to the classical inverse  $W^{-1}$ . More precisely,

the following diagram commutes:



where N(q) is the normal subgroup generated by q, and  $\pi_q : F_n \to F_n/N(q)$  is the quotient homomorphism.

(4) ("The law of conservation of energy") For each  $W \in F_n$ , we have  $e_q(W) = e_q(I(W))$ , where  $e_q(W)$  is the sum of the exponents of q in the word expression of W.

Here are some examples of computations, where y and z stand for any two preferred generators  $x_i$  and  $x_j$  such that  $x_1(=q) < x_i(=y) < x_j(=z)$ .

$$\begin{split} &I(q^k) = q^k, \qquad \forall k \in \mathbb{Z}, \\ &I(y^k) = q^k (q^{-1}y^{-1})^k, \qquad \forall k \in \mathbb{Z} \\ &I(yz) = z^{-1}y^{-1}, \\ &I(zy) = qy^{-1}q^{-1}z^{-1}qyq^{-1}y^{-1}, \\ &I(zyz^2) = q^2z^{-1}q^{-1}z^{-1}y^{-1}zqz^{-1}q^{-1}z^{-1}yzqzq^{-1}z^{-1}q^{-1}z^{-1}y^{-1}. \end{split}$$

### 2. Two definitions of I

Let P be a set of n + 1 interior points  $p_0, p_1, \ldots, p_n$  of a 2-disk D arranged on a line in this order. By a *cord* on (D, P), we mean an embedded curve  $\alpha$  in the interior of D such that  $\alpha \cap P = \partial \alpha = \{p_i, p_j\}$  for some i, j with  $i \neq j$ . For a cord  $\alpha$  on (D, P), let  $\tau(\alpha)$  be a counter-clockwise 180°-twist along  $\alpha$  interchanging the end-points of  $\alpha$  executed in a sufficiently small disk neighborhood of  $\alpha$ . This defines a map

$$\tau: C(D, P) \to M(D, P)$$

from C(D, P), the set of isotopy classes of cords on (D, P), to M(D, P), the mapping class group of (D, P) relative to  $\partial D$ . We use the same symbol  $\alpha$  for a cord  $\alpha$  and its isotopy class  $[\alpha]$  unless it makes any confusion.

The group M(D, P) is identified with the braid group  $B_{n+1}$  so that each standard generator  $\sigma_i$  (i = 0, ..., n - 1) of  $B_{n+1}$  corresponds to the mapping

class  $\zeta_i$  of  $\tau(\alpha_i)$ , where  $\alpha_i$  is the line segment between  $p_i$  and  $p_{i+1}$ .

Let  $A_{i,j}$  (i < j) be Artin's pure braid generator

$$A_{i,j} = \sigma_i^{-1} \sigma_{i+1}^{-1} \dots \sigma_{j-2}^{-1} \sigma_{j-1}^2 \sigma_{j-2}^2 \dots \sigma_{i+1} \sigma_i$$
  
=  $\sigma_{j-1} \sigma_{j-2} \dots \sigma_{i+1} \sigma_i^2 \sigma_{i+1}^{-1} \dots \sigma_{j-2}^{-1} \sigma_{j-1}^{-1}$ 

Artin [A] proved that the subgroup of M(D, P) generated by  $A_{0,j}$  (j = 1, ..., n)is a free group isomorphic to  $\pi_1(D - \{p_1, ..., p_n\}, p_0)$ . Setting  $x_j = A_{0,j}$ , we sometimes identify this subgroup of M(D, P) with the free group  $F_n$  generated by  $x_j$  (j = 1, ..., n), see Figures 1 and 2.

### Figure1

## Figure 2

We will adopt the convention that the mapping class group M(D, P) acts on (D, P) from the *right*. Thus for a cord  $\alpha \in C(D, P)$  and a mapping class  $f \in M(D, P)$ , the notation  $(\alpha)f$  will denote the image of  $\alpha$  under the action of f. For each  $W \in F_n \subset M(D, P)$ , let  $\eta(W)$  be the cord (or its isotopy class)  $(\alpha_0)W$  in this notation. This defines a map

$$\eta: F_n \to C(D, P)_{01},$$

where  $C(D, P)_{01}$  is the subset of C(D, P) consisting of the isotopy classes of cords  $\alpha$  with  $\partial \alpha = \{p_0, p_1\}$ .

**Proposition 2.1** ([M]). The map  $\eta: F_n \to C(D, P)_{01}$  induces a bijection

$$\eta: \langle q \rangle \backslash F_n \to C(D, P)_{01}$$

from the right coset  $\langle q \rangle \backslash F_n$  to  $C(D, P)_{01}$ .

Since  $(\alpha_0)q = \alpha_0$  in  $C(D, P)_{01}$ ,  $\eta : \langle q \rangle \backslash F_n \to C(D, P)_{01}$  is well-defined. We will describe the inverse map: Consider mutually disjoint half lines labelled  $x_1, \ldots, x_n$  starting from  $p_1, \ldots, p_n$  as in Figure 3. Assume that a cord  $\alpha$  intersects these half lines transversely and assign each intersection point the label of the half line. Trace the curve  $\alpha$  from  $p_1$  to  $p_0$ , and we obtain a word W by reading the labels on the intersection points, together with the signs of the intersections as their exponents. The word W as an element of  $\langle q \rangle \backslash F_n$  is uniquely determined by the isotopy class of the cord  $\alpha$ .

# Figure 3

Using the bijection  $\eta : \langle q \rangle \backslash F_n \to C(D, P)_{01}$ , we define a map  $I : F_n \to F_n$ as follows: Let W be an element of  $F_n$  and  $\alpha$  a cord on (D, P) with  $\eta(W) = \alpha$ . Apply  $\zeta_0 \ (= \tau(\alpha_0))$  to the cord  $\alpha$ , and we have another cord  $\alpha' = (\alpha)\zeta_0$  with the same property  $\partial \alpha' = \{p_0, p_1\}$ . By the inverse map of  $\eta$ , the cord  $\alpha'$  corresponds to an element [W'] of  $\langle q \rangle \backslash F_n$ . Take a unique representative W' of [W'] such that  $e_q(W) = e_q(W')$ .

**Definition.** For each  $W \in F_n$ , there exists a unique element  $W' \in F_n$  such that  $(\eta(W))\zeta_0 = \eta(W')$  and  $e_q(W) = e_q(W')$ . Then I(W) is defined to be W'.

For example, a word  $W = x_2 x_4$  is represented by a cord illustrated in Figure 3. Applying a disk twist  $\zeta_0$  to this cord, we have a cord as in Figure 4, which represents  $[x_4^{-1}x_2^{-1}]$  of  $\langle q \rangle \backslash F_n$ . Thus  $I(x_2x_4) = x_4^{-1}x_2^{-1}$ . It is easily seen that  $I(x_i) = x_i^{-1}$  for each *i* with  $2 \leq i \leq n$ ; nevertheless  $I(x_1) = x_1$ .

# Figure4

In terms of the mapping class group M(D, P), this definition of I is interpreted as follows: For an element  $W \in F_n \subset M(D, P)$ , the conjugate  $W^{-1}\zeta_0 W$ is a disk twist  $\tau(\alpha)$ , where  $\alpha = (\alpha_0)W$ . If we consider a further conjugation  $\zeta_0^{-1}W^{-1}\zeta_0W\zeta_0$ , this is again a disk twist  $\tau(\alpha')$ , where  $\alpha' = (\alpha)\zeta_0$ . Proposition 2.1 implies that there is a unique element  $W' \in F_n$  such that  $\eta(W') = \alpha'$ and  $e_q(W') = e_q(W)$ , which is I(W). It is obvious that

$$\zeta_0^{-1} W^{-1} \zeta_0 W \zeta_0 = \zeta_0^{-1} \tau(\alpha) \zeta_0$$
$$= \tau((\alpha) \zeta_0)$$
$$= \tau(\alpha')$$
$$= W'^{-1} \zeta_0 W'.$$

The second definition of I. For each element  $W \in F_n$ , there exists uniquely an element  $W' \in F_n$  such that  $\zeta_0^{-1}W^{-1}\zeta_0W\zeta_0 = W'^{-1}\zeta_0W'$  in M(D,P) and  $e_q(W) = e_q(W')$ . Then I(W) is defined to be W'.

#### 3. The first algebraic formula

In what follows, we work in the braid group  $B_{n+1}$  instead of M(D, P). Identify the free group  $F_n$  generated by  $x_j$  (j = 1, ..., n) with the subgroup of  $B_{n+1}$ generated by  $A_{0,j}$  (j = 1, ..., n) so that  $x_j = A_{0,j}$  (see Figure 1). We denote by  $\sigma$  the standard generator  $\sigma_0$  of  $B_{n+1}$ . By  $a^b$ , we mean the conjugate  $b^{-1}ab$ .

We can further interpret the definition of  $I: F_n \to F_n$  in terms of  $B_{n+1}:$ 

The third definition of I. For each element  $W \in F_n$ , there exists a unique element  $W' \in F_n$  such that  $\sigma^{W\sigma} = \sigma^{W'}$  and  $e_q(W) = e_q(W')$ . Then I(W) is defined to be W'.

For an element  $W \in F_n \subset B_{n+1}$ , let

$$B_W: B_{n+1} \to B_{n+1}$$

denote the inner-automorphism induced by  $W^{\sigma}$ , namely

$$B_W(b) = b^{W^{\sigma}}$$

Since  $W^{\sigma}$  is a pure braid and  $F_n$  is closed under conjugation by a pure braid,  $B_W(V)$  belongs to  $F_n$  for any  $V \in F_n$ . Thus restricting  $B_W$  to  $F_n$ , we have a homomorphism

$$B_W: F_n \to F_n.$$

It is obvious that  $B_{W_1W_2}(V) = B_{W_2}(B_{W_1}(V))$ . Thus we have a "right representation"

$$B: F_n \to \operatorname{Aut}(F_n), \qquad W \mapsto B_W.$$

To calculate  $B_W(V)$  for  $W, V \in F_n$  it will be sufficient to calculate  $B_W(V)$  in the case when W and V are preferred generators of  $F_n$  and their inverses. By direct calculations, we have the following results:

Lemma 3.1.

$$B_{x_j}(x_i^{\epsilon}) = B_{x_j^{-1}}^{-1}(x_i^{\epsilon}) = \begin{cases} x_j q^{\epsilon} x_j^{-1}, & i = 1, \\ q^{-1} x_i^{\epsilon} q, & j = 1, \\ x_i^{\epsilon}, & 1 < i < j, \\ x_i q x_i^{\epsilon} q^{-1} x_i^{-1}, & 1 < i = j, \\ (x_j q x_j^{-1} q^{-1}) x_i^{\epsilon} (q x_j q^{-1} x_j^{-1}), & 1 < j < i, \end{cases}$$

and

$$B_{x_j^{-1}}(x_i^{\epsilon}) = B_{x_j}^{-1}(x_i^{\epsilon}) = \begin{cases} q^{-1}x_j^{-1}q^{\epsilon}x_jq, & i = 1, \\ qx_i^{\epsilon}q^{-1}, & j = 1, \\ x_i^{\epsilon}, & 1 < i < j, \\ q^{-1}x_i^{\epsilon}q, & 1 < i = j, \\ (q^{-1}x_j^{-1}qx_j)x_i^{\epsilon}(x_j^{-1}q^{-1}x_jq), & 1 < j < i. \end{cases}$$

**Corollary 3.2.** The homomorphism  $B_W: F_n \to F_n$  preserves  $e_q$ ; namely

$$e_q(B_W(V)) = e_q(V)$$
 for any  $V \in F_n$ .

**Theorem 3.3.**  $I: F_n \to F_n$  is a crossed anti-homomorphism twisted by the right representation  $B: F_n \to \operatorname{Aut}(F_n)$ :

$$I(W_1W_2) = I(W_2)B_{W_2}(I(W_1)).$$

Proof.

$$\sigma^{(W_1W_2)\sigma} = \sigma^{W_1\sigma W_2^{\sigma}}$$
$$= \sigma^{I(W_1)W_2^{\sigma}}$$
$$= \sigma^{W_2^{\sigma}B_{W_2}(I(W_1))}$$
$$= \sigma^{I(W_2)B_{W_2}(I(W_1))}$$

Since  $e_q(I(W_2)B_{W_2}(I(W_1))) = e_q(I(W_2)) + e_0(I(W_1)) = e_q(W_1W_2)$ , we have  $I(W_1W_2) = I(W_2)B_{W_2}(I(W_1))$ .  $\Box$ 

This theorem, together with I(q) = q and  $I(x_i) = x_i^{-1}$ , (i = 2, ..., n), allows us to compute I(W) algebraically. In the next section we give another algebraic formula for the *q*-inverse, which seems more naturally fitted to the *q*-inverse.

### 4. The second algebraic formula

For each j (j = 1, ..., n), we put

$$\widehat{x_j} = \begin{cases} 1 & \text{for } j = 1, \\ A_{0,j}A_{1,j} & (= x_j \sigma x_j \sigma^{-1} = \sigma^{-1} x_j \sigma x_j) & \text{for } j > 1. \end{cases}$$

Figure 5

For an element W of  $F_n \subset B_{n+1}$ , we denote by  $\widehat{W}$  the element of  $B_{n+1}$  that is obtained from W by replacing each letter  $x_j$  by  $\widehat{x_j}$ . In particular,  $\widehat{x_j^{-1}} = (\widehat{x_j})^{-1}$ . We note that if  $\pi_q(W) = \pi_q(W')$  then  $\widehat{W} = \widehat{W'}$ .

For an element  $W \in F_n$ , let

$$C_W: B_{n+1} \to B_{n+1}$$

denote the inner-automorphism induced by  $\widehat{W}$ , namely,

$$C_W(b) = \widehat{W}^{-1}b\widehat{W}.$$

Since  $\widehat{W}$  is a pure braid,  $C_W(V)$  belongs to  $F_n$  for any  $V \in F_n$ . Thus restricting  $C_W$  to  $F_n$ , we have a homomorphism

$$C_W: F_n \to F_n.$$

It is obvious that  $C_{W_1W_2}(V) = C_{W_2}(C_{W_1}(V))$ . Thus we have a right representation

$$C: F_n \to \operatorname{Aut}(F_n), \qquad W \mapsto C_W.$$

By direct calculations, we have the following results:

Lemma 4.1.

$$C_{x_j}(x_i^{\epsilon}) = C_{x_j^{-1}}^{-1}(x_i^{\epsilon}) = \begin{cases} x_i^{\epsilon}, & i = 1 \text{ or } j = 1, \\ x_j^{-1} x_i^{\epsilon} x_j, & 1 < i < j, \\ q x_i^{\epsilon} q^{-1}, & 1 < i = j, \\ (q x_j^{-1} q^{-1}) x_i^{\epsilon} (q x_j q^{-1}), & 1 < j < i, \end{cases}$$

and

$$C_{x_j^{-1}}(x_i^{\epsilon}) = C_{x_j}^{-1}(x_i^{\epsilon}) = \begin{cases} x_i^{\epsilon}, & i = 1 \text{ or } j = 1, \\ (q^{-1}x_jq)x_i^{\epsilon}(q^{-1}x_j^{-1}q), & 1 < i < j, \\ q^{-1}x_i^{\epsilon}q, & 1 < i = j, \\ x_jx_i^{\epsilon}x_j^{-1}, & 1 < j < i. \end{cases}$$

**Corollary 4.2.** Let  $e_q: F_n \to \mathbb{Z}$  and  $\pi_q: F_n \to F_n/N(q)$  be as before.

(1) The homomorphism  $C_W: F_n \to F_n$  preserves  $e_q$ ; namely

$$e_q(C_W(V)) = e_q(V)$$
 for any  $V \in F_n$ .

(2) If  $\pi_q(W) = \pi_q(W')$ , then  $C_W = C_{W'}$ .

(3) 
$$\pi_q(C_W(V)) = \pi_q(W^{-1}VW).$$

**Theorem 4.3.**  $I: F_n \to F_n$  is a crossed homomorphism twisted by the representation  $C: F_n \to \operatorname{Aut}(F_n)$ :

$$I(W_1W_2) = C_{W_2}(I(W_1))I(W_2).$$

*Proof.* It is obvious from Figure 5 that for any  $W \in F_n$ ,  $\widehat{W}$  commutes with  $\sigma$  in  $B_{n+1}$ . Thus we have

$$\sigma^{(W_1W_2)\sigma} = \sigma^{W_1\sigma\sigma^{-1}\widehat{W_2}\widehat{W_2}^{-1}W_2\sigma}$$
$$= \sigma^{W_1\sigma\widehat{W_2}\sigma^{-1}\widehat{W_2}^{-1}W_2\sigma}$$
$$= \sigma^{I(W_1)\widehat{W_2}\sigma^{-1}\widehat{W_2}^{-1}W_2\sigma}$$
$$= \sigma^{\widehat{W_2}^{-1}I(W_1)\widehat{W_2}\sigma^{-1}\widehat{W_2}^{-1}W_2\sigma}$$
$$= \sigma^{C_{W_2}(I(W_1))\sigma^{-1}\widehat{W_2}^{-1}W_2\sigma}.$$

Assertion 4.4.  $\sigma^{-1}\widehat{W}^{-1}W\sigma = I(W)$  for any  $W \in F_n$ .

If this assertion is proved, then since  $e_q(C_{W_2}(I(W_1))I(W_2)) = e_q(W_1W_2)$ , we have  $I(W_1W_2) = C_{W_2}(I(W_1))I(W_2)$ .

Now we prove Assertion 4.4. We have for any  $W \in F_n$ ,

$$\sigma^{W\sigma} = \sigma^{\widehat{W}^{-1}W\sigma}$$
$$= \sigma^{\sigma^{-1}\widehat{W}^{-1}W\sigma}.$$

If  $\sigma^{-1}\widehat{W}^{-1}W\sigma$  belongs to  $F_n$ , then since  $e_q(\sigma^{-1}\widehat{W}^{-1}W\sigma) = e_q(W)$ , Assertion 4.4 holds.

We prove that  $\sigma^{-1}\hat{V}^{-1}V\sigma \in F_n$  for any  $V \in F_n$  by induction on the length of V. If V is a generator or its inverse, it is directly seen that  $\sigma^{-1}\hat{V}^{-1}V\sigma \in F_n$ . If

 $V = V_1 V_2$ , then we have

$$\sigma^{-1}\widehat{V}^{-1}V\sigma = \sigma^{-1}\widehat{V_{1}V_{2}}^{-1}V_{1}V_{2}\sigma$$

$$= \sigma^{-1}\widehat{V_{2}}^{-1}\widehat{V_{1}}^{-1}V_{1}V_{2}\sigma$$

$$= \sigma^{-1}\widehat{V_{2}}^{-1}\sigma\sigma^{-1}\widehat{V_{1}}^{-1}V_{1}\sigma\sigma^{-1}V_{2}\sigma$$

$$= \sigma^{-1}\widehat{V_{2}}^{-1}\sigma z_{1}\sigma^{-1}V_{2}\sigma$$

$$= \sigma^{-1}\widehat{V_{2}}^{-1}\sigma\sigma^{-1}V_{2}\sigma z_{1}^{\sigma^{-1}V_{2}\sigma}$$

$$= \sigma^{-1}\widehat{V_{2}}^{-1}V_{2}\sigma z_{1}^{\sigma^{-1}V_{2}\sigma}$$

$$= z_{2}z_{1}^{\sigma^{-1}V_{2}\sigma},$$

where  $z_i = \sigma^{-1} \widehat{V_i}^{-1} V_i \sigma$  (i = 1, 2). By induction hypothesis,  $z_1$  and  $z_2$  belong to  $F_n$ . Since  $\sigma^{-1} V_2 \sigma$  is a pure braid,  $z_1^{\sigma^{-1} V_2 \sigma}$  belongs to  $F_n$ . Hence  $\sigma^{-1} \widehat{V}^{-1} V \sigma \in F_n$ .  $\Box$ 

If W = 1, then by definition I(W) = 1. If W is a generator of  $F_n$  or its inverse, then by a direct calculation we have

$$I(x_i^{\epsilon}) = \begin{cases} q^{\epsilon} & \text{if } i = 1, \\ x_i^{-1} & \text{if } i \neq 1, \epsilon = +1, \\ q^{-1}x_iq & \text{if } i \neq 1, \epsilon = -1. \end{cases}$$

If W is  $x_{i_1}^{\epsilon_1} \dots x_{i_m}^{\epsilon_m}$ , then I(W) is calculated by

$$I(W) = \prod_{j=1}^{m} C_{W_j}(I(x_{i_j}^{\epsilon_j})),$$

where  $W_j = x_{i_{j+1}}^{\epsilon_{j+1}} \dots x_{i_m}^{\epsilon_m}$  for  $j = 1, \dots, m-1$ , and  $W_m = 1$ . This is the most efficient formula known to the authors that fits to computer programing.

### Proposition 4.5.

$$I(W_1q^kW_2) = I(W_1W_2)I(W_2)^{-1}q^kI(W_2).$$

In particular,

$$I(q^kW) = q^k I(W), \text{ and } I(Wq^k) = I(W)q^k.$$

This proposition follows from Theorem 4.3. The detailed proof will be left to the reader.

Finally we give a relation among I,  $B_W$  and  $C_W$ .

### **Proposition 4.6.**

$$C_W(V) = I(W)B_W(V)I(W)^{-1}$$

*Proof.* By Theorems 3.3 and 4.3, we have  $I(W_1W_2) = I(W_2)B_{W_2}(I(W_1)) = C_{W_2}(I(W_1))I(W_2)$  for any  $W_1$  and  $W_2$ . Hence we have the relation.  $\Box$ 

**Proposition 4.7.**  $C_W$  commutes with I; namely,  $I(C_W(V)) = C_W(I(V))$ .

*Proof.* Note that  $\widehat{W}$  ( $W \in F_n$ ) commutes with  $\sigma$ . Therefore we see that

$$\sigma^{I(C_W(V))} = \sigma^{C_W(V)\sigma}$$
$$= \sigma^{\widehat{W}^{-1}V\widehat{W}\sigma}$$
$$= \sigma^{V\sigma\widehat{W}}$$
$$= \sigma^{I(V)\widehat{W}}$$
$$= \sigma^{\widehat{W}^{-1}I(V)\widehat{W}}$$
$$= \sigma^{C_W(I(V))}.$$

Since I and  $C_W$  preserve  $e_q$ , we have  $I(C_W(V)) = C_W(I(V))$ .  $\Box$ 

### **Proposition 4.8.**

$$C_{I(W)} = C_{W^{-1}}$$

*Proof.* Since  $\pi_q(I(W)) = \pi_q(W^{-1})$  (Property (3)), it is a direct consequence of Corollary 4.2(2).  $\Box$ 

#### References

- [A] E. Artin, Theory of braids, Ann. of Math. 48 (1947), 101–126.
- [M] Y. Matsumoto, On quantum inverse in a free group, The fifth Korea-Japan School of Knots and Links, Proc. Applied Math. Workshop, 8, KAIST (Taejon 1997), 1998, pp. 187–198.

KAZUO HABIRO: RESEARCH INSTITUTE FOR MATHEMATICAL SCIENCES, KYOTO UNIVER-SITY, SAKYO-KU, KYOTO, 606-8502, JAPAN

*E-mail address*: habiro@kurims.kyoto-u.ac.jp

Seiichi Kamada: Department of Mathematics, Osaka City University, Osaka 558-8585, Japan

E-mail address: kamada@sci.osaka-cu.ac.jp

Yukio Matsumoto: Graduate School of Mathematical Sciences, University of Tokyo, Tokyo 153-8914, Japan

### 12 K.HABIRO, S.KAMADA, Y.MATSUMOTO AND K.YOSHIKAWA

 $E\text{-}mail\ address:\ yukiomat@ms.u-tokyo.ac.jp$ 

KATSUYUKI YOSHIKAWA: FACULTY OF SCIENCE, KWANSEI GAKUIN UNIVERSITY, SANDA, HYOGO 669-1337, JAPAN

 $E\text{-}mail\ address:$ yoshikawa@kwansei.ac.jp

Preprint Series, Graduate School of Mathematical Sciences, The University of Tokyo

UTMS

- 2001–4 J. Cheng, G. Nakamura and M. Yamamoto: A global conformal uniqueness in the anisotropic inverse boundary value problem.
- 2001–5 Fabien Trihan: Cohomologie syntomique des F T-cristaux.
- 2001–6 Shigeyuki Morita: Generators for the tautological algebra of the moduli space of curves.
- 2001–7 Shigeo Kusuoka: Nonlinear transformation containing rotation and Gaussian measure.
- 2001–8 Kazuya Kato and Takeshi Saito: Conductor formula of Bloch.
- 2001–9 Hiroshige Kajiura, Yutaka Matsuo and Tadashi Takayanagi: Exact Tachyon condensation on noncommutative torus.
- 2001–10 Mikio Furuta and Yukio Kametani: The Seiberg-Witten equations and equivariant e-invariants.
- 2001–11 Igor Trooshin and Masahiro Yamamoto: Spectral properties of non-symmetric systems of ordinary differential operators.
- 2001–12 Hiroshige Kajiura: T-duality group for open string theory.
- 2001–13 Nariya Kawazumi and Shigeyuki Morita: The primary approximation to the cohomology of the moduli space of curves and cocycles for the Mumford-Morita-Miller classes.
- 2001–14 Xu Bin: The degree of symmetry of compact smooth manifolds.
- 2001–15 K. Habiro, S. Kamada, Y. Matsumoto and K. Yoshikawa: Algebraic formulae for the q-inverse in a free group.

The Graduate School of Mathematical Sciences was established in the University of Tokyo in April, 1992. Formerly there were two departments of mathematics in the University of Tokyo: one in the Faculty of Science and the other in the College of Arts and Sciences. All faculty members of these two departments have moved to the new graduate school, as well as several members of the Department of Pure and Applied Sciences in the College of Arts and Sciences. In January, 1993, the preprint series of the former two departments of mathematics were unified as the Preprint Series of the Graduate School of Mathematical Sciences, The University of Tokyo. For the information about the preprint series, please write to the preprint series office.

ADDRESS:

Graduate School of Mathematical Sciences, The University of Tokyo 3–8–1 Komaba Meguro-ku, Tokyo 153, JAPAN TEL +81-3-5465-7001 FAX +81-3-5465-7012